26 21

D i i)

Bg/L Bg/L
c c c B (
35m 35m 2 2 )
T2 C-2 c-2-1 C-0 B-0-1 X-1
7 20 7 20 7 20 7 20
744 7:33 7:34 7:23
Cs-134 2 ND(1.5) ND(17) 24 Cs-134 2 29
Cs-137 30 ND(L.6) ND(26) 43 Cs-137 30 66
B ND(18) 31 29 B 98
330 T-2
ND
AR Ok
c c § GICHK BSOS O i
35m 35m gURilas 19 CHEKBR3SMERIH DY |
T-2 C-2 c-2-1 L
Cs-134 2 35 11/9 45  9/26 29 <7/18> CHEKEE & T AT i
Cs-137 30 81 9/1511/9 130 9/26 10 <7718> | 1SRN LG ER I NIT BEEK S RSEEEE e | ITTH Ree K RS '
B ND 2,500 10/24 45 <7/18> 7ok
c S [ RXUBAIEC KB
2 2 ( L ISRLRREEATEY. CHKE
o B0t ) ~DFNRABIEHYFEE A
- -o- 1 M il
* RIS FRE RS S
Cs-134 2 20 <2/15> 110 <5/1> 450 10/4 v
Cs-137 30 51 <2/15> 280 <5/1> 990 10/4
B 120 <2/15> 380 972 15,000 10/2

25

26

DV aceoEyelBRAN—RA AT YT
e | BEE-EFIRRT0UEISIERE)

-0 ;
CHKEATEPISEES |

' e




